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٢J٦J١אאאFאE
אאW

JאאHysteresis loss:אאאאאא
אאאאW

                                                        ٢�٢٤fgBhW 6.1=
JאאאאFאEEddy current loss Wאאא

                                                           ٢�٢٥fgBeW 2=
     אאאאאאאא

אאאKאאאאאא
،אאאאאK

٢J٦J٢א  אאאאאאא
אאא  א א  

אא،אאW 
J אאW

Armature cupper loss=I٢
aRa

אאאאא
J אאW

For shunt machine=I٢
shRsh(or VIsh)

אאK
For series machine=I٢

seRse
JאאW

Loss due to brush contact resistance=IaVB
VBאאא،אאאK

٢J٦J٣אא
    אאא،א(bearing)א،

אאא  אא  Kאא א א
אאאאאK


